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A1 - EE
Time : 3Hrs. Sem- /E,E L
Basic Electronics

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question

carries 1 marks.
Ju—A ¥ 20 73 & SR T, UAD U BT 94 13D 2 |
Answer all five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |
Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol & SR <, TAS U & A9 63(FH 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10.

SToReR IR T Sredl 27 W yRuey
fra & e gifviexr & fov forag sfor
e 3fie} fhsd® @ O 49 9T o)
AT PN |

Explain the operation of single stage common base
transistor amplifier with neat circuit diagram and

signals. Give its characteristics.

wWoe URuel o td fmaa @ arer @
TR B9 49 S1foreer yase &1 &
fafer &1 s &Y | saa AT Bl T

OR(3721dT)

Explain each region of the drain characteristics and

transfer characteristics of JFET with neat sketch.

B ¥Dd B AT SloUhogodlo &I §
IFIALAT TAT STABR ATAALTOT & YD HIRT
B ATAT B |
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(i)

(i)

(iif)

(iv)
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fr=fafaa & @ @9 sdaras 2 2—
@1 Raferei=

(@) s

() Sferaw sdAISS

(®) Arhs

A p-type semi conductor is formed when...
........ impurity is added to an intrinsic
semiconductor

(a) Pentavalent

(b) Trivalent

(c) Divalent

(d) Monovalent

®I firamar sirar @ a1 98 dlo—<rgu
Agarcid 9+ SIdl 28—

(31) U= dgiei®

C)REREIGED

(@) fg GaIo®

(]) THa HAISTH

For a Germanium P-N junction, the barrier
potential is nearly....

(a) 0.15v

(b) 0.30v

(c) 0.45v

(d) 0.70v

P.T.O
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Uh WoB a9 & G8rdr 9 dlo—T+o wfer
SIS D) §-1dc Ud S1d Al ) arar o |
SAPT V-1 ARTA&I0T Eid |

OR(3721dT)

What is Schottky diode? Why is Schottky diode

called hot carrier diode? Explain it in details.

dleal SIS |1 2° Hicahl sTis R SH
dqrEd SIS dbeddl 22 $Ud! Aredl fawgd
wT q BN

Explain the working of full wave center tapped
rectifier with the help of neat circuit diagram and

wave forms.

Ueh o8 URuY 3 ¢d a’ T =1 & 9rel
guf TR AeX Cte faedRl & srifafy &)
ATET TN |
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(vi)
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5 1620305

gTIfid dik UR o) SIS &1 SUIIT
............... & ST fear siar 28—

(31) gae®

() fecar)

(@) fawa fFame

() 39 9 BIg T8

LED which is made of Gallium Arsenide

(a) Blue light

(b) Red light

(c) Green light
(d) None of these

Udogoslo ol Aferad amf-Igs &1 911

(|) & g&r

() 39 9 P18 8

Photo diode is used for the detection of .......
(a) Visible light

(b) Invisible light

(c) No light

(d) Both (a ) and (b)

P.T.O
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U$h W8 URuY a3 gd a’9 999e & 41

g AN fascai) & e o |

OR (372rd)

Explain the operation of LC filter with a neat circuit

diagram.

U$h W8 URuA a3 & |10 tdo Hlo flheex

BT BRI—belld Bl ARAT B |

5. How transistor acts as an amplifier? Explain it.

c1foer Ua ygsie &) dig o9 &l &HXdr 27

B! AT B |
OR (3721d)
Explain the basis construction of BJT.

dloviodlo & WA AT I ARAT I |

6. Explain the principle of operation of JFET.

4

4

NT3024

(x)

(xi)
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URd flheey AR @ At Al B9 A ST
mgﬁQoﬁowaﬁ ...........
IS UM Al o—

(31) S=a

@ fr=

(%) (@7) v (q) <

(@) 37 & +ig

In a BJT, emitter-base junction is always.......
...biased.

(a) Reverse

(b) Forward

(c) Both (a) and (b)

(d) None of these

flododlo A, gflex —a9 dfer sdem

(@) 3
(@) (@) g (@) <rr
() 39 9 BIg T8

The ratio of collector current to base current
ina BJT is called.............

(a) a
(b) B
© 1/a
(d) 1/B

P.T.O



O'Ld
17 "ULIOJ 9ABM PUE

weI3erp JINOII0 18U M JOYNOAI dAeMm Jrey urejdxyg

| 2@ blab & laBRRJE [A 1bRE bh
2 sl (@ BIBRI-RIe ¢ SRS Plh

"SONSLINORIBYD [-A S} OQLIOSIP
pue aporp ojoyd jo ordiourrd Sursjrom o) urejdxyg

(Iprie)AO

| 2 1IR3k |PRE
¢ IPI2 PRbko NR| & kB
10021b Ae} R® S(RIS Abis Ah® b AMb

‘31 urejdxy /peo] Ay} sso1oe 33e)[0A
JUBISUOD UTBJUIBW O} PIsn SI OPOIp IOUSZ MOH

| 3 1b5ke @ 2blkb ($ ARR LMY
ke QIR oka olh B IBRIZR |® kR] G2by

“wederp jeau ym uonoun(
N-d ur 1oAe[ uonardop jo uonewoy oy urejdxyg

(lprRER)IO

S0€0791 €1 YTO0ELN

asay Jo duoN (p)
Amun ueyy 210 (9)
Aun ueyy sso7 (q)
Ay (e)

sAem[e SI JOJSISUE) & JO 819 JO dn[eA Y,

1& Lk bbRhe (2)

B (1)

®jn (b)

@2k (k)

—2 1M DIk

Bll2k) & MP b @PK @ ofpojnolp

aA0qe oy 01 [1V (P)

aseq (9)

zopru (q)

10109710D) (®B)

............ SlUQSQ .Idgl

MOIIR JO USIS AU} ‘L[ JO [OqUIAS o3 U]

din (2

0 /1 (B)

d (&)

o (i)

—2 IDIRRGT pihLe 14 RIB

RE IkD IR 22bR® | olpolnolk di

YTO0ELN 8

(Arx)

(%)

(%)

(1x)

S0€0791



1620305 12 NT3024

xx) cToer gRur & oo TAT Yodlo
AR I3 —
(31) &1 g-THS Sell< Bldl 2
(d) BT SRTER @l BldT 2
(@) 9 9B @R @
(?) <l TH—gEY &I dIcd ©

GROUPB

Answer all Five Questions.

gl uig g & SR o

2.

4x5=20

What are the minority carriers in P-type and N-type
semiconductor? Explain it.

4
H—<I3U Ud Udo <IsU g dicid H Jcuddd
qred T BIdl 2?7 FUD! ARAT X |
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xiv) oTTEX @& fag dier &1 99 a9

(xv)

(xv)

(xvi)

BIdl 28—

(31) sPTE

() sS4 ®H

() go1g A e
(]) s ¥ @Is 2
The ..o current of a JFET is practically
zero?

(a) Gate

(b) Drain

(c) Source

(d) None of these

AqEIR® ®Y ¥ SloUhogodlo Bl............
€RT T[T BIdl 2—

(31) vIe

@) =7

(@) °ia

(€) 379 9 ®Ig =i

A unijuction transistor has...............
(a) Anode, cathode and gate

(b) Two bases and one emitter

(c) Two anode and one gate

(d) None of these
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